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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP5 0
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ET (ml/hr/plant)

P5_0, Day=35 (2025-05-09)
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10:40 327 150.0 (% =| 1Ri%@10:40 Bz (REEHRSE)
11:40 327 150.0 =l Rig011:40 Bz (REAEEE)
12:40 327 150. 0 5| Ri%e12:40 B (RFATREER)
13:40 327 150.0 |Z=| 1Ri&e13:40 Bzh (REHERESE)
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EORGEBRBT R IRAR Y2 (327 vs 288.0))

BRI SEFRIERE170.0 ml.
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Warning: lcol ['FVI’,
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Warning: lcol ['WC1’,
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1.

i 30.
31.0 - MW
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29.
29.5 - 29.
? 29.
29. 0 ~
< 28,
T T T T T
600 700 800 900 1000
m=735,m FV0=0
30,754+ —@— MW
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30.
29.75 A
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T T T
735 740 745
m
1.0
0. 8 A
0.6 -
0.4
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Warning: col ['M_E'] missing
0. 0 T T T T
0.0 0.2 0.4 0.6 0.8 1.0
m=735, FVO0=0
1.0
0. 8 A
0.6 -
0.4
0.2 A
Warning: col ['M_E'] missing
0. 0 T T T T
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m=540, FV0=0 m=615, FV0=0
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00 A
75 n 30 25 N
50 + 30. 00 -
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T T T 29.25 - T T T
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29.75 A
50 +
T T T T T T
785 790 795 845 850 855
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4 .44
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Warning: col ["M_E’] missing Warning: col ['M_E'] missing
0 T T T T . 0 T T T T
0.0 0.2 0.4 0.6 0.8 1.0 0.0 0.2 0.4 0.6 0.8 1.
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Warning: col ['M_E’'] missing Warning: col ['M_E'] missing
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Warning: col ['M_E’] missing
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Warning: col ['M_E'] missing
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09:00 308 150.0 [Z=| 1BRi%@09:00 Bzh (KEEREE)
10:00 308 150.0 F BRi%e10:00 Bz (GRAERESE)
11:00 308 150.0 sl BRiBe@11:00 B (REAERESE)
12:00 308 150.0 Sl 1Rige12:00 B3 (RAERSE)
13:00 308 150.0 F BRi&e13:00 Bz (GRAERESE)
13:55 308 150.0 El 1BRi&e13:55 Bz (GREAEREE)
15:15 308 150.0 =l {Rige15:15 B3 (RAERSE)
23t 2156.0 (70%) 1050. 0 IEHKEC: 2460.0, PH: 6.5

ERGERIEC (2855.0) SiRAVEEY (2460.0) RERK, BHKE.
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T
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Warning: col ['M_E'] missing
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